
Original InstructionsOriginal Instructions

numatic.comnumatic.com

SM-1405SM-1405

SMX-1405SMX-1405



2

M5 X 45 M5 M8 M8 X 25

0.5 HR

ALLEN KEY

X4 X4 X2

X2 X2 X2 X2

X1



3

1

3

4

5

6

ITEM DESCRIPTION QTY

1 MINI TROLLEY BASE REFLO 1

2 UPRIGHT FRAME ASSEMBLY 1

3 3 PIECE LIDSET REFLO 1

4 5L SWING BUCKET (RED HANDLE) 1

5 5L SWING BUCKET (BLUE HANDLE) 1

6 WASTE BAG COVER MOULDING 1

2



4

M5 X 45 M5 

X2

X2

X2

X4 X4



5

SMX-1405

M8

M8 X 25

X2

X2



6



7

SM-1405

M8

M8 X 25

X2

X2



numatic.comnumatic.com
8

SM-1405

912639 A03 01/24


